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Honors Math 3 Name

Test Review

Solve by factoring.
. X +4x*+9x=-36 2. 16x*-81=0 3. 2x* -18x*-20=0
Divide using long division.
4. (10x* —11x—6)+(2x-3) 5. (12x* —5x% =3)+(3x% +1)
Divide using synthetic division.
6. (3x* +12x° —5x* —18x+8)+(x+4) 7. (x* —2x> =9)+ (x-3)
Given one zero of the function, find the remaining zeros.
8. f(x)=x'+2x"+16x+32; -2 9. f(x)=x"-5x"-2x+24; 4
Use the synthetic substitution to evaluate the function at the given value.
10. f(x)=3x" -7x* +4x-2 at x=-2 11. f(x)=x*-5x*-2x+24 at x=4
Use the remainder theorem to determine if the given binomial is a factor of the polynomial.
12, (x+2); f(x) =x" —3x" +2x -8 13. (x-3);f(x)=x"-14x" +9x +18
Given one factor of a polynomial, find the rest of the factors.
14. x—4;x* +x* -14x-24 15. x+5x° +6x> —x—-30
Given the following zeros determine the least possible degree polynomial, then write a polynomial

function in standard form with the given zeros.

16. 3i,-2 17. 9,0,~1—i

18. For the given graph, give a possible polynomial function (in factored form):

A

\

] '\
Y v

19. Sketch (no calculator) the graphs of the polynomials considering end behavior and
behavior at roots.

a) y=-2x(x+4)F(x-3)(x-6)° b) y =3(x+4Y(x-5)x +1)*(x* +9)
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